EARAROBEEIERT — 2 N— IBISH —F

2017588140 (A) 6mEEER5H

m%ab SHZRNEALE C2t#E 7% —H% ‘ [xz] & ‘ [eErsm]  — | & (%) 14000 B
[AE4£] 17 :200,000 ™ ~ 237%&:40,000”  337%&:20,000H” . 43&:14,000H 53 :6,000
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
W= — HMRE :28. — . — RS (B
1 N 4 TAIZT)— it 6 54.02k 1(2_8)2 . 594 s (418) SHABZ
RNAT ==L B:TL—3F FTh)T7—L
— s o 3N eiaEE :28. = . - AlllwR kiR
;B SUHLALE Y 4 6 el 1(2489 4-4 39.9 1 (4_487) %*ér
LA LINT Ry TR B:FT Fll - #R—
. o — Ryl 229, - X — BRAS (KR)
3177 HvIEL1—T7 T 540 1(24%6 - 4.0 2 (418) ;ggmg% ’
L B2 Y E—T BRY /AT v — AFO%5
- i . 4 5 | KIFE 1:29.6 2-1 7.0 — 4 448 | HERAD (BEFE)
sl 6| P=>T0—<> 54.0 (745%) ) |BEE
R:Z2ZyVrlh BTy IH-FT> by vse ]
: 4t 5 | FIEBEEMR 1:29.6 5-7 40.4| — 5 471 | =< ARHE (KR)
5/8lg| 7 K=X 56.0 (2 E) (—) |RMAE—
R:ZAFAI=NK BVLIFTTSM4X FHRESS
o I\HRiZE :29. = . = HZHEE (KR
61111 A3 gF/INF it 6 ;}53_0 (112:?/49) tsl £20 4 (433) AN
LTI 8 Biya LS hHIY—Y YA 785
S i 5 | BRERE 1:30.0 8-6 40.4| — 8 430 | EEEEE] (KiR)
715|5|HEITT 56.0 (1/2) (—) | FER
LNn—ErTv— B:XMNJ—=RXETL TADAS
ERRE : = — BRAS (KR
8 o| KTA KT Y b 4 4 s 1.(350).8 7-8 4.3 6 (452) fiﬁ%lﬂﬁ% Y
AR w4 =T B:ax/vA AL
® I —F—@EBIERL
13—7—
23— —
G§a=7r= 7,6,4,3,8,1,2,5
43—+ — (4,6),7,3,1,5,8,2
[ RN
B OB 4 740M 714K 3-4 350M B E 3-4 1,100/ &R 3-4-7 1,060M
8 B 4 1704 4-7 460 B H 4-3 3,110M JEH 4-3-7 9,890/
3 1104 3-7 190M
7 110

ABICOVWTRDTEEERROODE. TR LIV,




